5""(”“9 of gums and loosening of teeth g

<&
<

PART-A (GENERAL KNOWLEDGE

1. 1. TR} T W aw A W der 93w Bew 0
caused due to deficiency of: A ﬂ'ﬂl b
' Vitamin A (8) Vitamin B (A) A B) Rafs 8
(ve)( vitamin C (©) Vitamin D A c it D
2. Which of the following is not presentinblood 7 2. /%5 ¥ @ Rawr 8l @iz
(A) RBCs (A) T T iR
(B) WBCs O\\\ (B) R T BH
(C) Plasma , OF (C) =T
! Placenta L\0\' o St
3. Astick immersed in water appearshent aue tomg 3, qeit 7 g @ o9 Rt dal & WO T oA
phenomenon of: eN A A
(A) Reflection of tight ¢ AY, ot e A
(B) Diffraction of light ,* (B) wEw # Rk
Refraction of llgh‘ TE T m
) 0'599'2%'6“9“ (D) Erer @1 wehet X
4. This ga Is termed as territorial water ang 4. ug @, o ¥ @ ey R od g6 wEET U
\;&: therein belonging to the nation: # gafag 29 3;_',‘ =
5 Oceanic area upto 12 nautical miles from the coast 7 (2 Heewde gearta a3 o
OQ,\ (B) Oceanic area upto 192 nautical miles from the gg e 4 é.Z A e worarTia 8
[‘ <) g)c‘::nicama uptov15n tical miles f QP Ra ™ %% o
au miles from the coast D = ] 20 A qEETiG &5 9%
(D) Oceanic area upto 20 nautical miles from the coast : )m v ™~ )
5. Which state of India is the largest producer Bajra? 5. WRA & TH-81 W99 0 w1 walits gmes s g
Rajasthan (B) Uttar Pradesh R 8
(C) Maharastra (D) Gujarat 70 (B) IFT-539t
(% < (C) wEIE (MY TorTA
6. Kudremukh mine deposits knownt6 be one of the 6.  ryw WM Py, it R Rwg a1 ad @81 ST S 2,
largest in the World is located in‘the state of: &8 g # fgg &
(W) Assam ) Karnalakd " () s W witen
(C) Chattishgarh (@) Jharkhand, (C) BawEE (D) FEYE .
7. Who recently won ICC.under -18 World cup 7  Ree anit o @ 7 icC 19 af @ T4 g At B \@\C
cricket title: Vel : I e R s A agir e ol
(A) Pakistan X (A) T Ae-
(8) lndia. @ LG C.c./\
_South Africa ) R S
(D) Srilanka (D) A-da o\*‘\
8. The term of the current Lok sabha will expireon: 8. T de-gar a7 . 9 wara e
) 1%aune, 2014 (A) 7 1, 2014 ¢
"~ (B)"25" May, 2014 ((B:) 3 25, 2014
% AC) 16" May, 2014 (o) 16,2014
" (D) 27" May, 2014 © "g@ 014
9. BIMSTEC summit 2014 recently concluded in: 9.  BIMSTEC Rrercarai 2014 ot g @ A e W gam:
(A) Bhutan & A
O (B) gl
(B) Sn-Lanka . O (©) TR
(C), Bangladesh \Q\' V
Myanmar Q\\\' T
~ (8-1] Pix-08
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1.

12.

13.

8 7’14.

16.

17.

subsidy scheme?
(A) Myanmar

§97 Thailand

(C) Indonesia

(D) Bosnia

Which of the followin
appointed their prime

Feb, 2014:
(A) Thailand, Myanmar, Nepal

Thailand, Italy, Nepal <O
(C) Myanmar, Italy, Egypt i (}O
(D) naly, Egypt, Nepal O’

O
Identify the state with bicamggﬂ, :gislature:
(A) Kerala

(C) Tamiinagy

. »,‘W Maharastra
_2" (D) Rajasthan
&

Who' is the present Governor of the state of 13

Karnataka? <O

Utf Hans Raj Bhardwaj
(B) ff Chaturvedi

G) Rameshwar Thakur

,’\'\\ D) None of these

The world Environment Day is celebrated on:
(A) December 1
June 5
(C) November 14
(D) August 15

Clean water would have BOD value of less than:

(A) 5ppm (8) 19.ppm
(C) 25ppm (D)#50 ppm _

Rovers cup is associated witi';

(A) Badminton

(B) Cricket

(C) Hockey
Football

With which game“is the term ‘Double fault" 17.

associated?
“j “Lawn Tennis
|BY Cricket

4C) Hockey

(D) None of these

The Asian Games are organised after every:
(A) 3years
‘ﬁf 4 Years
(C) 5 Years
(D) 6 years

\
e

\\
- ’C(
<<

3ot

prime minister of which country is recently . 10.
ng charges of negligence over a Government

g three countries elected/ 11.
ministers as recently as in

A

o~

12.

14.

16.

»
-s\."’

Mhﬂmmmnimtmmw
mam%mm@mwm
(A) =FERT
& aiddve
(C) F=rfam
(D) ¥rgfmr

Pt B @ 2 3 aof e @ wead 204
~Wﬂiﬁﬁsﬂww/hgﬁﬁm:

(A) gz, =Em, JuE
o

gqEavE, e, AU
(C) ==y, 3eai, M
(D) z==, M=, Sy
mmaﬁmﬁmm&mmk
(A) FeE A,
(C) g %m

; Wﬂmm%mj%ﬂﬁ:

A &\ T e

(B) A.w. wfdd
(C) THwET gz ‘
(©) ¥ §a g

AA) Rz 1
o v

: .(C) TIET 14

(D) s 15

W oW BON gF BEd w9 e

(A) & ppme (B) 18 ppm

(&) 25 ppm (D) 50 ppm

ad w9 rod grafag B:

(A) F=fyee

(B) e Q@
(C) A eS
Ra @e A 7= ‘S99 Wi waie 22

W o Pm <

(B) fde O

(C) &1t

ol

(D)ﬁﬂ?eﬁ

eb
Mmmm«mmmz:
C(éw)sg

4
() 5 7t
(D) 6 at




19. Which article of the constitution of India degyg
‘with the formation of new states and alteratiop, of
areas, boundaries or names of existing states:

18.

sl w@Rem ® Ree

A) Article 5
EB; ke 3 (A) BT 5
(C) Adicle 6 :8) @g
ficle 2 h
(D) Arti s 2
20. Who has been vested with powe -
constitution to permit any Member of ;arli they, 20. Wiy wifem ara R wiwe B A e A B s
who can not adequately express himsemm SR 7 s e waten: st T8t BT e, 9@
in Hindi or in English to address the, Hou ol g A awh g e 7 A B SR W S0 W
his/her mother tongue: W Se in ans B wra B
(A) Chairman of the Council of s(@tes o, ne be (A) T-09 & HFE g I AW 9T Heq o
acting as such in the housg ™’ 0N M TS 3w , ﬂ
(B) Speaker of the House 6} tha p (B) @%-8W & wWfY Sgar SA@ W GLOWE
acting as such in the House €upru U e pergon FtT qarE A N
(C) Leader of the house (C) #&51 % Jar
(D) Balh (41§ (D) (A) @@ (B) A P
21. What ¢ engivility criteria f - \ ) |
:@Qgeswem of Indiaz T o8¢ for eloction 21, :;m $ -l 3 g ¥ 9w w7 A AAEOZ
1 Should have completed the age of 35 . | Lo
Q}Q:\ (B) Should have completed the age of 30 ::::: ) 35 =f & a1, ot mm@
"~ (C) Should have completed the age of 25 d (8) 30 ¢ & sy ooh B affew
(D) Should have completed the age of 32 years (C) 25 T =i g anie
(0) 32 @3 F T e afeg
22. The Great Kanishk : b
- emperor Ranishkha belonged to which 22 ’WFI HuTe s g da @ =iy 2
4 Kushana Q M RLli)
(8) Gupta :g;
(C) Maurya
(D) Vardhana ‘ (0) =
23. Which of the followin
Kalidas? g was {rot Wmn by 23 FPrefeiag # S il i ferar mar 3:
v N (A) T Huan
(A) Kumar Sambhavam -
Laghujatakam (©) Wﬁ@q N
(C) Meghdootam - (©0) T \Q,\
(D) Raghuvansham o<
T <
24. Which of the following is a credit raung agency:  24. Pt & 2 -1 o W i Gi’?,*( %
/7 (©) NSE (C) NSE 2« 2
(Fages! (D) SEBI o™
‘25 ﬁmm “Bull” and " Bear" is related to: 25. 3 “‘Yofzm” @ﬁi’qf;m* Roed wafag B
94 Share Market f Rk
(B) Horse Racing (B) %
(C) Taxation (C) T
(D) International Trading & (D) =i amry
< o
60
o
C’
N
,C [9'3] PIX-08
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PART-B EMATICS

What will happen to the area of a rectangle if its
length is doubled and breadth is tripled?
(A) 5times more the area of the old rectangle
(B) Area will remain the same
(C) 6 times less the area of the old rectangle
6 imes more the area of the old rectangle

What is the distance travelled by Swati, if she takes
three rounds of a circular park with radius 14 m. O

(A) B8 m (B) 250m OO\
(C) 314m ¢ 264m \Q\'

A
The area of a trapezium shapegqﬁd is 480 m*,
the height is 15 m and one Qf o oarallel side is
20 m. Find the other narn{ﬂg de.
N

44 m &Y (B) 20m
(C) 84m (D) 150 m
[\

ed T 2400 at 12% interest per

annum, At the end of 2% years, he cleared his
\\e&wm by paying ¥ 1200 and a cow. What is the
(" cost of the cow?

(A) T 3120
) T 1920

A rarmer

(B) T 2350
(D) T2120

30. Vijay obtains a loan of Rs. 64000 against his fixed
deposits. If the rate of interest be 2.5 paise per
rupee per annum, what is the compound interest

payable after 3 years.
W) 4921 (B) 23925
(C) T 5052 (D) T 4573 |
31. 55% of the population of a towq,:aéé males. If the
total population is 64100, the population of
females is: ! s J
(A) 35255 ¢ 28845
(C) 30295 (D) 29835
32. A path 1 m wide is built along the border insidn 3
square garden of side 30 m. What 1s tne area of
the path? .
“i-11am’
(B), 224'm”
(€) 196 m?
(R)yNone of these
r‘tfm”tiiameter of the wheel of a car is 77 ¢m. How

““many revolutions will it make to travel 121 km?

26. g @ S T @ AT AR GEA TR G o

deré T & ang?
(A) mm%&ammsﬂ‘“m
(8) adt @

(C)_ gt e & &t & 6 M
et e & &S 36 T A
zr.c"mm%mwauraqﬁu:ﬂaﬁmw%w
3di uE % q@ d 96T a8 e
(A) 88 HIeT (B) 250
(C) 314 #Hrex MZGAW

28.
AR W B A B W
W) 44 drx (B) 20 T,
(C) 84 X (D) 150 #Eg :
29. ws feEr A 2400 BYT 12 wRwg @2 § AT
22wl & a1 7 1200 UG @ TH M BT I{
S R e fran A @ a9 6
(A) 23120 i 4 (B 2350
21020 | ' _AD) 22120

30. R A S e o PR 9T 64000 BT B ST
e B it @ 4 o2 2.5 48 ofy w=we Ry o &
W 3 S wEm 2 ks =W o am:
¥ 24021 (8) 23925
(C) T 5052 (NY T4873

31. @'ﬁﬂwwwassmmzuu&@

ITHEAT 64100 B, & wigenad 9 wFreEn a4 apd-
(A) 35255 o 28845
(C) 30295 (D) 29835 3
O
<

32. 30 HIE GO AR q@ THT IuE B sy
% 1 Fet 31 ©F e T awn b u;;‘\%'
T G

@l 116m°
(B) 224 m* O\*C‘
(C) 196 m* < O

(0) ¥4 | =rd W\QO

<
33, wmﬁ@ﬁ‘m 77 W0, B 121 Rl o g
T F 8 R s amnen?

(A) 24200 (A) 2
(8) 30000 B)
(
¥/ 50000 O 49 50000
(D) 42500 QO (D) 42500
o
&
e e
e (B-4]

PE———— T L. R R
15%@“@@%@20%3'@’
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; R &
. , Kabir and Kartik can together finish 5 34 (7, w4 CF B & TRESHT & 05 @9 4
i, tecw: in 4 days. Karan by himself can do it in 12 Wﬂ%h%‘ﬂlﬁﬁﬁﬂﬂ‘!ﬂ@mm
days and Kabir by himself can do it in 19 gays i 10 Ra A qn w7 wem B s & aBA W
How many days Will Kartk take to finish the  orar @ qu w0t A R Rt Y
project alone? o 1 ) oM ®) 13
15 , D) 1
‘9/14 (D) 10 & 1 Ll
35. Spinning 3 hours daily, Kanika can spin 2 35, 3 e SRRT o & T 12 Ba A 2 e gl
" cotton-balls in 12 days. Spinning 4 hours , W Fare meh B 4 de shafk wod s 10 R @@l
how many days will she take to spin 19 kg Aeitann T A s w0 T 90 Reed e wr?
balls? Q\C 45 R (B) 42 R+
(A), 45 days (B) 42 gorfe o 3 P (0) T & @ T
38 days (D) g@k of these
36, Sanya can embroider a Qheet in 15 days. Her 36, ®EAT 15 Rl 7 uw Jzde 4 wed & awdl B gEn
sister in law can do @"in 10 days. They start e 10 Ra ¥ gah @erd WX wadr t'A ﬁ‘ﬂ % §19
embroidering the bed-sheet together, but 2 days Rfe @ e wow o B afa 2 Bl oA
rrlbped "z;eé haw Bives up the work and goes IR ah w1l Brgst v w-RonS I g S
to her pare ow many days will Sanya fini : . 8
the ng work: eh B mmwamm:;gg:m
(A) 8 . 10"
(g’\ ays 95 10 days (©) 12 A o) 7%
_(NCY 12days (D) 7 days _ & .
";, ) 'y - é
[“87. A train travels at a certain average speed for a 37. @ ) o Pty g ot 63 Rl @t gl A
distance of 63 km. There after it travels a distance aEr w0 X SR qw g5 72 fell. A1 gd, e
of 72 km with an average speed of 6 km/hr more o .6 Pl st sar @ st w97 A s B
than the original speed. Total time taken to WI“ A ga R o w3 62 By 2 A
complete the journey is 3 hours. What is the fers siEa arl w7 7
original average speed of the train? 4, , . ) .
(A) 36 km/hr (B) 42 km/hr (A)38 B, Ader (B) 42 i, sz
(C) 48 kmv/hr “m None of lhesel' {C)-48 Rel. i ¥ & B
38. Shyam s travelling on his cycle and has '38. WM w WERE @ A @ @ E ol g A 9T 2PM
calculated to reach point ‘A’ at 2'PM If he travels T wgS % e R Bl w10 Bl oy der oI
at 10 kmph. he will reach there at 12 ngon ifhe W B 9 9% 491 12 99 aNer 9gam aft 7% 15
travels at 15 kmph. At what speed must he travel Ro.1. sfy der o @m A =) Fow TR A 3w RENY
toreach "A"at1PM: . -~ ‘AT BM T GER: N
N
12 kmph (B) Lg:kmph ZKK RRHA W d (8) 14 B s gy @
(C) 8 kmph _(D) 11 kmph (C) B &4, ufy ¥ (D) 11 R, gﬁ‘.’g.
39. Muskan donates Rs. 2000 to a school, tha interest 39, & 2000 577 0% e Bt oaF A0 .&W &
on which is to be used for awarding 5 9% @t W9 e A 5 sty RY o @ R T
scholarships of equal value everv year. i the B o B aR A Wao wived s e
donee*ean_ps an interest or 10% per annum, the wom B, O wds BrEghT m@m Fa1 @7
valpg of each scholarshio is: V‘ 240 \O\. ®) 50
) < 40 (B) T50 (C) T30 oV (D) 7 @ @
“(C),.('SO (D) None of these R\~
40,1t by selling 110 mangoes, the cost price of 120 40, :}: 11:3( W\‘ﬁ ATHT 120 S W AT 7 TG
mangoes is realised; the gain percentage Is: E} o witver = B:
1 1 (A) 1119 B) gl
(A) 1n3% (B) 95 % O\’\,\ :o (B) 991&
10, s ©€) 10-% 2
(© 1033% P e % O\"Q 1 & 0%
O
o\
SRR 2




41, Ih an‘sxamination, Ram’s average marks was 63
per paper. Had he obtained 20 more marks in
English and 2 more marks in Economics, his
average marks would have been 65. How many
Papers were there in the examination?

(A) 8 (8) 8
1" (D) None of these

42. The incomes of A and B are in the ratio 3:2

their expenditure are in the ratio 5:3. If eac

<

. o gl 4, ™ & shew oiw 63 sfr 397 o ol Id
mitzo 3% s ud e § 2 oiw W BR
gﬂ o 3ftua e 65 2 wmm wher 7 Rerd At

}\7
(B ®) 8
e s (B w1 & ®é

2. A B Mawt & o 3:2 B @ o wd @
S B:3°) AR w@% 1000 B9 A WY wd X @

Rs. 1000, A's income is: \0\- A B S Rt s
(A), X 4000 (8) 2 5%'8\“ (A) 4000 (B) 5500
T 6000 (D) {4 T 6000 (D) T 3500
e
43. 5625:75+Vx=96. Find x. 43. 5625:75+Vx=96. x 1 A WA FT:
(A) 361 Vi (A) 381
(B) 400 (B) 400
441 (O 441
(D) 4a4 G (D) 484
44, u;@%x 14.7 = 4798.08, find y: 44. 255 xyx 14.7 = 4798.08, ym HIAC ST S
\36« 19.2 (B) 11.6 (A) 19.2 { (B 11.6
R‘ug_ (C) 105 M 12.8 (C) 10.5 A ,',=w~-1z.s
What approximate best value should come in 45 mmm ffﬂ % L iC | 'R ﬂs‘m T W T S
place of the question mark (?):
5 12 8 1 Ka Xs—-?
1-%x6—x5—-=7 9
7188 _(A)_ 110 @ 70
(A 110 ¢ " 1©) 30 () 60
(C) 30 (D) 60
2533 1 2533 1
46. WX@ =7 46- -ﬁ—o—-xﬁ
(A) 0.084302 o) 0.020264 (A) 0.084302 @ 0.020264
(C) 0.030181 (D) 0004281 (C) 0.030181 (D) 0.004281
47. @ is written in decimal form as: \ 47. 2403 @ e wee 4 By e R ol
(A) 612.25 60075 (A) 512.25 o 60075 G\\L
(C) 800.25 (D) 850.75 (C) 800.25 (D) 850.75 G@
48. 1085 books cah be packed in a carton:1f theino. of 48. 1085 R ws gt 7 & Rear o B wg
cartons is 90 then how many books are needed to & dear 90 ® At ot Glt-l B i FEE R R
pack all the cartons? ol A oA w2
(A)\10770 (B) 97965 (A) 10770 87965
(C) 34390 97650 (C) 34390 (.& 97650
4 O
| 49, .aais’ of 1260 + 80% of 755 = ? 49. 1260 H 333% :ﬁm 80%= 7
(A) 1162 (B) 1402 (A) 1162 C-/Gf\ (B) 1402
1024 (D) None of these 01 1026 (©) ¥ § 3§ Tl
J36 x3=5x7 Jﬁxs 5x7 -2
500 —4mM—=7 8 =
-4x 289 O\’(\ -4xy289
(a) 172 W 14 'O (A) 112 114
() 173 (D) None of lhese\\o (C) 13 (D) & & 3¢
<
~ Pre-09
et [B-6]




PART-C (ENGLISH)

DIRECTION: identify the incorrect pairs of singular and their plural forms respectively:

S1. .- Oxen
(8) Sheep — Sheeps
- Geese
(C) Goose (oves o\
(D) Thief = Thie < -7}/
“ .’\’}
Given the plural word “Brethren". Identify its singmacr" word from among the alternatives:

grother
(8) Breath - Q\ﬂ\\
(C) Bear X 3
(D) Berth . ‘\d

DIRECTIONS: Fill each blank in ‘I@Q}‘W'"Q sentences with an appropriate conjunction:

L7

53. Grievances can not lgg)dressod ........... they are known
(A) Unless e
(B) Whethet\'\\
O
(C) Than
©) 4o°
O\
5:.\X(D\1r hoard is little, ........... our hearts are great.
02" (A) And
e But
(C) Despite of
(D) As well as

52.

55. No nation can be perfectly well governed ........... itis c:omﬁetent to govern itself:

(A) Till

(B) Than
(C) Whence
(D) Or

DIRECTIONS: Identify the plural formii'/'vhich isdin’orrécl:
56. ‘ B

TV

(A) Commanders-in-chief .
(B) Mice M . O
M Son-in-laws G’\\
(D) Men \ | <
(@
o

DIRECTIONS! The following sentences are given in reporeu speecn, Lnange these sentences into Ds;’gél speech:

§7. Hesaid that the train was coming. A\
O . e g o
(A), He'sald. "The train is coming’ e
AB) He said, “The train had come® ‘
((Qﬂe said, “The train has come”.
AD) He said, “The train had been coming”. o

58. The teacher said that the sun rises in the east. O"i

(A) The teacher says, “The sun rises in the east".

The teacher said, "The sun rises in the 355'_‘ ¢\
(C) The teacher says, “The sun rose in the easl_ : ‘O\
(D) The teacher said. “The sun rose in the ea%( ;

O

o
R\2
\ [B-7]
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59. He said to me, * What are you doing”

* (A) He asked me what | was doing.
(B) He said to me what | were doing.
(C) He told me what | was doing

0\
(D) He asked me what you were doing.

&
<
60. He said to him, “ Is not your name Ram".

(A) He asked him if his name wa$s Ram, <
(B) He inquired whether his name was not Ram.()
(C) He said ta him if his name was not Ramy «

(D) He narrated him if name was not

<&
DIRFCTIONS: Complete the semen@ﬂa\s}mg appropriate tense

-
T P a bath bofora&fbok breakfast.
]

(A) Had taken

(B) Have bee ing

(C) Took OO

(D) H%Q &en taken {
- -

S: Fill in the appropriate option to make the sentence in " Fulire Parfact Ténea®

~ & o
Alnf

DIRE
~

_@( By the end of this month | ............... here for five years i: »
g (A) Will work ¢ RN

-~

DIRECTIONS: The following sentences are given in Direct speech. Change Ihese sentences into correct reported speech:

(C) WIiil have been working

(D) Will be workina

By next March We

(A ‘Shall be living
(B)_ Shall live

Shall have been living {"
(D) Shall have been lived L
»

............... here for four

-

' 4

v

years -

&

a8

4 ’

5

M Will have worked Vel N
LW 7

DIRECTIONS: Fill in the annropriate option to make the senle_n_oém . Fuwt\é"Perfecl continuous Tense
63. \

o
»

’ Y 4
DIRECTIONS: Change the lollo&?nfg,@enleﬁ%ggﬁe * Present Perfect Continuous Tense”
64. Mr Rakesh has taught English for 25 years.

“f Mr Rakesh has been teaching English for 25 years.

(B) Mr Rakesh Is taught English for 25 years

(C) Mr Rakeslvls being taught English for 25 years.
(D) MrRakesh has been taught English for 25 years.

(C) Increasing v Conlre)@hg

66. STAGNATING

(A) Redundant
(C) Stationary

| p@ﬁ\ Fixed

Developing

O\
- = (\
:-‘DIRECTIONS'.‘.Ea’ch of the following items consists of a word in capital letters, followed by @ﬁ’eords. Select the word
oppositéin meaning to the word in capilal letters. <
\ y o
| 65. ENMANCING @
() Reducing (B) Boosting _QJG\




NS: Against Each key worg
D,,'RMECT::? meaning o the key word? A% given four suggested meanings. Choose the word or phrase whicn 1s tne

67. Lewd

‘4 Vulgar

(C) Pleasing o o
oo o @

(A) Exceptional v

(8) Extraordinary

Average o
(D) Uncommon O

d the following f
DECHONET o o se&@g 8. Yau have {o find out number of adverbs in these sentences.
kly. This | {g&y
69. Sunil runs qulc ly. sa SWvut mango, Raju reads qulte clearly Probably he is mistaken.

(A) 2 05
AB) 3 o*
“(c) 4 -

(D) 5 O\'\

§tast bowler. Jadoj s \
70. Jad s 4002 can howt t+os. g i the only child of his parents. You can only guess. .

\xiLa) 3

S (C) 4 \ .,‘.-"
RC’ (D) 1 » . f"/..-"

DIRECTIONS: Given are three sentences. Identify the kind of adverb which has been uSed in these sentences

71. Sita sang sweetly. Ram cried loudiy. The Sikhs fought bfavgsy

(A) Adverbs of manner
(B) Adverbs of time

(C) Adverbs of frequency
(D) Adverbs of place

”'

DIRECTIONS: Fill in the blanks with coffest prépdsition.
, glion

o

72. The cat jumped ........... the chair! \ |
(A) of \NOY N !
(B) from A 5 * o\\L
(C) off AQMN A
(D) by N & : (\(Q,e'
73. Child marriage is a great hindrance ........ .. progress. it
(A) to (BY In <
#~7(C) of . (D) Tor C;O\
74, m"ohan Gandhi is a descendant .......... Mahatama Gandhi. e\O\ :
Wr‘(o (B) of \\Q,‘\
% AC) off (D) from <
. -
T - sisciaisios being fined, he was sentenced to a term of imprisonmgg,,\
(A) Beside
(B) Besides O\'\'\
(C) Apanrt < O
(D) Having @O
™
C \‘ ‘ [3-9] "x-09




76. The main gate of X's office faces East. From the
backside of the office, X walks straight 50 mete_ls
and then turns to right and walks 50 meters again.
Finally he turns towards left and stops after
walking 25 meters. Now 'X' is in which direction
from starting point:

South East (B) North East
(C) South West (D) North West

A doctor gave a patient 5 tablets and lnstn‘}‘c&@
him to take one every 5 hours. If the patienl.took
the first tablet at 4 AM., when woa@) e have
taken all these tablets? o
(A) 12:00 Noon (2)&) Night
(C) 02:00 PM one nfthasa

"\\
Find the number in place of auesuon marx.

7 N7
o6 [
(A) 80Q.%- 100
(C (D) 125

79-\)ﬁhlch of the following figure represent the
G&Q’ relationship among Biscuits, Fruits and Pulses.
.

" o @
. Wielele

Observe the following diagram carefully and find

78.

those women who are employed but not m'l__rriedl

Women M’"‘“’ ';K y p :
‘Employed. | ‘ ~. ,:-‘""

V2 B 3
(C) 4 R (>
81. Alka ranks 10" i a class of 46 students, What will
be her rank from the last?
(B) 38

(A) 35
/.:;7 (D) 38

At what angle the hands of a clock are inclined
when it is half past two o'clock?

M, 160° (8) 107°

- w"IOS" (D) None of these

83, If Ranchi is called Delhi, Delhi is called Mumbai,
Mumbai is called Dehradun, Dehradun is called

Nagpur and Nagpur is called Meerut then where is
the Gate way of India?

82

out the particular portion which represents for

PART-D (REASONING AND ANALYTICAL ABILITY

76. X' B wtew o qer aw qf A i ¥ o @ Red

X & X' W 50 ey ween ¥ od g AR} gHHC T

50 *ftet e ¥ or: aw g qEHT 25 AT T B
&% o B X’ grow R A Rea R A B

A o gd (B) gt T
CC) e ufgam (D) T

77. % faftews 3 wle @ 5 2ade RY o HEF B SA%
5 W2 B anayd g7 & % Fidy Ran aRk 7891 3 s
TIHT 04:00 AM 9T R @l @ @R T I A% R

g B
(A) 12:00 Noon 12:00 Night % ("%
(C) 02:00 PM %‘Z i & B (O
78. Frafafen 3 gemies fre @ @ 9 @04 810 ST
2 16 N
68,20 7 X28 )
36 52 (N
(A) 80 ‘g,’*""’
() 120 125

79. Frafafem A ¥ @Fw R e, o @ aet @ aw
I B wit g bl o

(A) -'-—

80,

(8) @)

Wielele

Feaffae tafm &t sades 3t awr g BE @
FEr, W IF Aidenall A 5 Uoeme A ¥ AP
sifdafda ¥, 91 gzffe s &

g
%sp
2
2 (B) 3
(C) 4 (D) 6

|
™
%
81. 40Wdﬁwmﬂmm1oatw&;"«aﬂ
c?

STEH1 B @ T4 sm?

(A), 35 (B) 36
37 )
82. X T H A T | Fo am?
(A), 160° A9 @ 107
d 105° ’\\Q,\ (D) T4 & B T

ReUGT FW N B, Ao @ AnR B

<

83. afx ﬁ'ﬁﬁmmt.&aﬂﬂwmm
B.E?g
o & @@ AT W NG ww omm ¥ oA Nz A oite

o 7 87
(A) Meerut M Dehradun O fzmgt? “ mi_'
(C) Nagpur (©) Mumbai (O
a0 (C) YT (D) ¢
O
(%)




, Mihika and Priya a i}
g4, Vrinda, Jaya ya are playing a carg g4 . Fafen @ B Aw @ ¥ Bl I@
game. Mihika is to the immediate . g, |,
who is to the immediate right ot:mn?lgr“w:'cf::? &% oA o ot 5 g @ A afeh w B i
the right of Mihika? o 3 mfet e m' a7
() Vrinda (B) Jaya N T (B) 7
@ Priya (D) None of these v 8 (D) 5 & B
DIRECTIONS: (Que. No. 85 & 86) In eacy, of the fo ‘ ;
; i ; owing PR (F Hom 85 @@ A} Prafiea ods 5w o 3@ aW
questions find the one which is different from the reqy Ft A @;ﬂ d fm A
8. &
@ Sun B Ves O 95 «
(C) Satur (D) Mars AO" W ®) 39
Qv (C) (D) =t
86. <
(A) Turmeric ( Gf;}uy 86.
(C) Coriander Ragish (A) e ) frd |
RECTIONS. Choose the Vo € owm ~\C
DIRE . numb — N
lhemslineachoflheanqu:smw:fCh 's different from Pida: Frefafee 9% we § ae e TR A GE 8§
87. 00 fg=1 & L AN
:A) m (8) 89167 b ro— i\"e)"
(D) 1 4 (8) 89167
g\sg‘t\ ) 19679 (C) 16798 ()‘ ‘(9)) 19679
% ’ = T B 88. I | ,,
17 ? 5 qzl_ | B¢ "
1221123 .‘.;_':,';.L,.__S_ " 4
The missing number is: - BN R
14
) 9 \ (B) 2
89. In the followi ;e (- RV )
. In the following seri t ind the N :
ot RO ang Findthe 89, Pt suen ¥ o ox moa b1 o o @) wward:
(A) 5120 B) 10240 47 (8) 10240
2550 to)) f\geoo ' ¢ 2550 (D) 1280
90. If Arjun is the brother of 3 ikay lka is the )
sister of Ketan; and ,KQt‘anpip:':he w%':?o« < e Boeeh mﬂi i 8, A # w7 ¥ w %ﬁ{\e
how Jagriti is related to Arjun? R & Ren B, @ oy @ ot } @ wae b 4©
. A) g3 # B
(A) Daughter (B) Sister A) § ® Wm0
(C) Niecg e DfNone of these (€) o = M LR ﬁgﬂ(’%
91. :V:af: g::::‘d m:sl;\ place of question marki?)in 91, Frfafes samr 3 wyams f#}\% R G 9 S
< DW,EV, "Fu'g'} HS DW, EV, FU, 2, HS of
A IK ® su -+ ook oL (8 su
W) ot D) JP 06\ (D) JP
B '-;I - 6
“a,ﬂ_?._.‘/ﬂ} the second day of a month is Friday, which of 92, aR &fg3 {ﬁ'u fasg 3 & smmh
~ the following would be the last day of the next frer ¥ &m R?m R 8, aw B 34
month which has 31 days? g
i i - iy (A Arare
(A) Monday (B) Wmm
(B) Tuesday & ©
(C) Friday P o s s
{7 Data inadequate é‘0( .
e
@




ed red, blue

int
DIRECTIONS: A cube of side four inch 1s pain hrazs

and black on the pairs of opposite faces. It Is then cu
smaller cubes of side one inch each.

How many cubes have one face red and all others

ﬁiawmﬁalﬁﬂaehmmm'm.amm%
W A 3 Rt fadl @ om o 3 qe A T@ SR OF
™ T BR w6 o w3

3. Rt ot a1 % fovo e B s g o gon B

93. eN
unpainted: g;.a’ (8) 4
ofs 8 4 ) 6 (D) 16
(C) 6 (D) 16 .

94, 8 wsfydi 7808 T wh @ I A o
. 8 girls sat in a circle. Rekha is immediate right 3 % gH [

* Ragni and immediate left of Sanjana. Shasq t o @ &% 9@ 3 8 o worw @ afed A azil
after two girls on the right of sanjill'“!\%.ga °;" % A% 3D 3 o Tar oftr it @ A Rl asfal 82
many girls were there between Rekh: hashi A) T o
(A) Four “‘55&@ (C) & (©) 77 § 3 7@
(C) Two (Q)None of these O\

95. If ‘MEDICAL' is wﬁn@‘%s 'DEMILAC’ how is 95. 3R 'MEDICAL' @Y ‘DEMILAC’ Rrar smy B Sl
‘SUBJECT' written is that code? #E 7 'SUBJECT %) a1 R an&m’ 4
(A) BUSJETCq, (8) BUSTCTE BUSJETC (B) BUSTCTE
7] eusg& (D) BUJSCTE ) BUSJTCE (D)-BUISCTE

96. Poi to a man in a photograph Anjana said "His  96. U% Wrehmy TH aufin & mwﬁgﬂ S A H
! ¢'s father is the only son of my grandfather”. Ww{%ﬁm,ﬁmw.m\gﬁ B wrEhms

() How is Anjana related to the man in the photograph? Tl T s} sterm W g g 8
RC_'?,@ (A) Mother ‘Bﬂ Sister (A sim 9 MAB) A
(C) Daughter (D) None of these © T N N O T @ aE

97. Three of the following four are alike in a certain  87. Fr=iffa a3 @ & s P w9 7 @ aw 8 §
way and so form a group. Which is the one that 0% g w Pt s ¥ Prsfaiea 3§ S dar g
does not belong to that group? ~ S wgRE W e 87
(A), Pomegranate (B) Grapes (A, ST (B) W7
J Litchi (D) Orange ; oS T (D) Han

98. In a certain code, BRAIN is writtepas « % # x.. 98, % Fiftma 4Y2  BRAIN @ + % s ¥ % o o B
and TEAR is written as + $ + % . How js NEAR W YEAR @+ $ + % Fnar s 21 ot NEAR 3
written in that code? | » ol @rs § &3 R
(A) $x#% @ +4$% (A) § x #% ®) ++$ %

(C) x$=+# o x$ (C) x § 4 ) x$:% (\é

39. If with the second, third, seventh, eight, ninth, 98, 4% ‘PERSONALITY’ @ & g, dteR, wed, aged,
tenth and eleventh letters “of the word M, z6d @ el ani | @ ad amr Tar 8,
'PERSONALITY" a meaningful word is formed,
then the mid letter of the word is the answer. If no Swammm; ; ;:Tji‘ ;‘m ;,ﬁr( . QE@‘ L
word is possible then option D is the answer- *

Y ®) L ") A W
©) T @7 None of these 3 & TR af

100.1% the year 2010, paper production of company 100. aft ad 2010 a;'@bu Al H B IORA [

Aditi' is more than that of company ‘Vineet' but el & S fsar & oy R @ e @
“.._ Mot more than that of companies ‘Chirag' and JaET & W o B ol R @ st sl
* 'Deeva’. Production of company ‘Sevika' is not as - T B AR By of g wwh R @
much as that of company ‘Deeva’. However it is e A
more than that of company ‘Chirag’. Which WMQ' P-4l T it w7
company produced the highest quantity of papers? A g( ar (B) fim i
¥ Deeva (B) Vineet (JO\ () afam () ¥ & &5
(C) Sevika (D) None of these O\'-
O
- \\Q' Jm-ov
ol [B-12)




